12@0511 (K12a0511)

. Linearized knot diagam
5 12 \

Solving Sequence

) 511 -6—->12>10~1
A knot dlagranﬂ C5 €11 €10 C12 cg ~c3° cp

Ideals for irreducible component#ﬂ)f Xpar

I = (W? — P 4 = 1)

I¥ = (u'® —2u® + 308 +u® —2u* — P + P +u—1)

* 2 irreducible components of dim¢ = 0, with total 62 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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—9—>4—>8—>3—>7—>2>»C1,C
Cog C4 C2


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI=(u?—ul+... —u?+1)

(i) Arc colorings

ud +u
= \—u" +u®—2u®+u
—ud —u
a9 = \ud —ud4u
—ul0 4 — 2wt —u? 41
ul — 248 + 3ub — 20t 4+ u?

wl® — 2013 4+ 4ot — 442 + 407 — 4ud + 2u® — 2u>

ayq =

ag = \ —u® 4+ 303 — 6ul! + 70 — 6u” + 4u® — 20 +u
u? —3ul® +.- - 3u?+1
az = \ —u? +4u'® + ... — 5yt + 202
—u?T +4u? o —ud - 2u
ar = u? —5u?" + - —bud 4 u
ut” — 8ut® + - — 4205 + 10u3
a2 = —ufT +9utd - —dud
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®! +40u*® + - .- + 16u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ub? 42305t 4 2u 1
C2,Cg W 2wt 1
€3,€4,C8 uP? = 4uPt 4+ 36u+ 4
cy
Cs5,C11 u? -ttt
cr u’? —3uPt + - —8u+5
C10, C12 u?? — 195! +--—2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y2+ 13y - — 6y + 1
C2,Ce Y2 =23y =2y 41
€3, 64,68 y*? —60y>" +--- — 696y + 16
cy
C5,C11 y52—19y51+--~—2y+1
cr y*? — 3y°t + ... — 534y + 25
€10, C12 Y2 429yt - — 6y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= —0.998941 + 0.0459781

5.28620 — 0.938711

15.9673 + 0.95121

—0.998941 — 0.0459781

5.28620 + 0.938711

15.9673 — 0.95121

—0.728323 4 0.6859401

—3.57521 — 0.979871

0.260565 + 0.6403057

—0.728323 — 0.6859401

—3.57521 + 0.979871

0.260565 — 0.6403051

1.002230 + 0.0893791

3.67626 + 5.721771

12.7013 — 6.58681

1.002230 — 0.0893791

3.67626 — 5.721771

12.7013 + 6.58681

—0.665641 + 0.7204711

—1.78289 + 5.707391

3.97022 — 5.892011

= —0.665641 — 0.7204711

—1.78289 — 5.707391

3.97022 + 5.892011

0.530837 + 0.8164041

6.92563 — 8.790451

7.25155 4 4.859621

= 0.530837 — 0.8164041

6.92563 + 8.790451

7.25155 — 4.859621

= —0.522819 + 0.8133331

8.75278 + 3.379301

9.83163 — 0.357581

—0.522819 — 0.8133331

8.75278 — 3.379301

9.83163 + 0.357581

0.521713 + 0.7912331

3.07937 — 1.574821

4.02266 + 0.181751

= 0.521713 — 0.7912331

3.07937 4 1.574821

4.02266 — 0.181751

—0.833280 + 0.4434121

0.09032 — 4.104361

9.88532 + 7.112861

—0.833280 — 0.4434121

0.09032 4 4.104361

9.88532 — 7.112861

0.650819 + 0.6823851

0.204162 — 1.1597001

7.88295 4 1.516091

= 0.650819 — 0.6823851

0.204162 + 1.1597001

7.88295 — 1.516091

0.492028 + 0.8012171

7.16166 + 5.413481

7.59584 — 4.651691

0.492028 — 0.8012171

7.16166 — 5.413481

7.59584 4 4.651691

= —0.850769 + 0.6497121

—2.04278 — 2.527641

4.28217 + 3.736211

—0.850769 — 0.6497121

—2.04278 + 2.527641

4.28217 — 3.736211

0.823932 + 0.6907421

—4.74803 — 0.758601

—0.678268 + 1.2026681

= 0.823932 — 0.6907421

—4.74803 + 0.758601

—0.678268 — 1.2026681

0.874578 + 0.6862051

—4.59465 + 6.052281

0. — 7.848801

0.874578 — 0.6862051

—4.59465 — 6.052281

0.+ 7.848801

0.982865 + 0.6028591

2.10133 + 4.694991

11.88053 — 6.101821

0.982865 — 0.6028591

2.10133 — 4.694991

11.88053 + 6.101821

—0.946937 4 0.6625151

—2.91580 — 4.234151

0.+ 5.260941
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u
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—0.946937 — 0.6625151

—2.91580 + 4.234151

0. — 5.260941




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —1.158760 + 0.0144781 12.9367 — 7.20521 13.29023 4-4.772711
u = —1.158760 — 0.0144781 12.9367 + 7.20521 13.29023 — 4.772711
uw= 1.159210 + 0.0079981 14.7139 + 1.74661 15.7254 + 0.1

u= 1.159210 — 0.0079981 14.7139 — 1.74661 15.7254 + 0.1

u= 0.984648 + 0.652855] 1.18503 + 6.342351 6.00000 — 6.574851
u = 0.984648 — 0.652855] 1.18503 — 6.342351 6.00000 + 6.574851
u = —0.986168 4 0.6711381 —0.83243 — 11.045801 0.+ 10.849931
u = —0.986168 — 0.6711381 —0.83243 + 11.045801 0. —10.849931
u = 1.064000 + 0.6541851 4.67776 + 7.013311 0

u = 1.064000 — 0.6541851 4.67776 — 7.013311 0

u = —1.074140 + 0.6489691 10.57820 — 5.446721 0

u = —1.074140 — 0.6489691 10.57820 + 5.446721 0

u = —1.072330 + 0.6600311 10.38760 — 8.897311 0

u = —1.072330 — 0.6600311 10.38760 + 8.897311 0

u= 1.071430 4 0.6641231 8.5369 + 14.33441 0

u= 1.071430 — 0.6641231 8.5369 — 14.33441 0
u=0.649830 + 0.1907651 0.943472 + 0.0872731 11.64609 — 1.042961
u= 0.649830 — 0.1907651 0.943472 — 0.0872731 11.64609 + 1.042961
u = —0.355914 + 0.4928731 —0.32921 — 4.265371 5.60545 + 7.031607
u = —0.355914 — 0.4928731 —0.32921 + 4.265371 5.60545 — 7.031601
u = —0.114095 + 0.3939221 —1.45941 + 1.412531 0.827325 — 0.7855751
u = —0.114095 — 0.3939221 —1.45941 — 1.412531 0.827325 4 0.7855751




IL 1Y = (u'® — 2u® 4+ 3uf + u® — 2u* —uw? +u? +u —1)

(i) Arc colorings

ayq =

ag =

ar = u
u
az = \—ud+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ ul® + 4u® 4+ 10u® + 161" + 198 + 19u° + 16u* + 13u® + Tu? +3u+ 1
C2,Cs5,Cg WO 2 130w’ — 2t — w4 u—1
C11
C3,C4,Cg (u2+u—1)5
Cy
cr u'® — 2u® + 20" + 9ub — 5uS — 120t +ud + 13u? — Tu+ 1
€10, C12 ul® — 4u® 4+ 10u® — 160" + 19u8 — 190° + 16u* — 13u® + Tu? — 3u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10, C12 Y0 4+ 4y + 1098 + 4y — 17y% — 51y° — 48yt — 219 + 32 + 5y + 1
2,5, €6 y'% — 4y + 10y® — 16y + 19y° — 19y° + 16y* — 13y° + Ty> — 3y + 1
C11
C3,C4,C8 (yQ _ 3y + 1)5
cy
cr 0 — 4y + ... —23y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol ++/—1CS) Cusp shape

u = —0.501486 + 0.8050607 8.88264 10.0000
u = —0.501486 — 0.8050601 8.88264 10.0000
u = —0.974665 + 0.5707061 0.986960 10.0000
u = —0.974665 — 0.5707061 0.986960 10.0000
u = —1.14608 8.88264 10.0000
u= 0.802076 0.986960 10.0000
u = 0.573627 4 0.5243841 0.986960 10.0000
u = 0.573627 — 0.5243841 0.986960 10.0000
u = 1.074530 + 0.6439961 8.88264 10.0000
u= 1.074530 — 0.6439961 8.88264 10.0000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u'® + 4u® + 10u® + 16" 4+ 19u5 + 19u® + 16u* + 13u® + Tu? + 3u + 1)
C(uP? 4230t 4 2u 1)
C2, Co (W =20 4+ Fu— D - w20+ 1)
C3,Cq,C8 ((u2 +u— 1)5)(u52 — AP 4 4 360+ 4)
C9
Cs, €11 (W =20 4+ fu— D)W —uP o —u® 4 1)
cr (u'® — 2u® 4 20" + 9u® — 5u® — 12u* + u® 4 13u® — Tu + 1)
c(uP? = 3ut - —8u+5)
10, C1o (u'® = 4u® + 10u® — 16u” + 19u® — 19u° + 16u” — 13u® + Tu® — 3u + 1)

(WP =190 4 = 2u 4 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (y'° + 49° + 10y 4+ 49" — 1795 — 51y° — 48y* — 219> + 3y® + 5y + 1)
'(y52+13y51+"_6y+1)
c2,C6 (y'% — 4y” + 10y® — 16y" +19y° — 19y° + 16y" — 13y* + 7y* — 3y + 1)
.<y52_23y51+.._2y+1)
C3,C4,Cg ((y2 _ 3y + 1)5)(y52 _ 60y51 4= 696y + 16)
€9
s e11 (y** — 4y® +10y® — 16y" + 19y° — 19y° + 16y* — 13y° + Ty* — 3y + 1)
.<y52_19y51+.._2y+1)
Cyr (ylo 74y9 4= 23y+ 1)(y52 73y51 4= 534y+25)
€105 C12 (v +4y° + 109" + 4y" — 17y° = 51y° — 48y — 21y° + 3y® + 5y + 1)

WP 29y =6y + 1)
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